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= 70,212
Al 1,259,983
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OZRII=2 BIEAY
5002 * 10,0002 50,000
SRRAYFRsHEY 2,959,716 2,391,221 568,495
QI ArZt el 320,861 408,176 A87,315
101 Q14| 263,021 349,336 286,315
VEERTEES RS 263,021 349,336 £86,315
OS&F I 18,550
= 35,000& * 59 » 90¢ 15,750
-5 35,000& * 59 » 13= 2,275
—GERsy 35,0008 * 5% * 32 525
SENEELPICED 30,975




S KX D
By UM G YSH(LUDTHT /L)
o9 DRAADS A (el &2
_ _ _ Muo
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 il b o HRE2
-4 35,000& * 59 + 150 26,250
— =g 35,0003 * 5H » 22=F 3,850
—GHE =< 35,0003 * 5% * 5& 875
OKOIEEUH (ML) 24,780
-2 70,000& » 2H = 150 21,000
—F5=E 70,0008 » 2% » 22= 3,080
—dE i< 70,0003 * 2% » 53 700
OBIEN EESEL-EET=
888,078,000& * 4.5% 39,964
OBIEN EESEETEE L=
838,029, 0002 * 3.5% 31,082
SBIED S -PlI-FEER=F
888,061,000& * 5% 44,404
OBIEN EES R
888,018,000& * 1.75% 15,541
OIZHZ2T ML=
888,072,000& * 6.5% 57,725
201 L2y 57,840 39,840 18,000
01 AtE22/Hl 51,340 33,340 18,000
OQUARIE HARO(YBIIS)
500% » 5& * 5008 1,250
OHZF(YSH)Y AZF S R0 6,750
—EX 3,000& * 2,0000H 6,000
—LHX 500& = 1,5000H 750
OZE(YUNEET L IS MTHEE 9,000
—Z28 ZZ 150,000/ * 300H 4,500
—BRRIE ZAHH 150,000& = 300H 4,500
OFE(Hu)E =X J1€8E  600,0008 * 30Y 18,000
OnS ¥ sy #40 1,600
—3F3uUs gy 100,000& * 123l 1,200
—ElYyAl geo 100,0002! * 43| 400
ORI 5lo B2
70,0008 » 59 * 203 7,000
OHIZHZONE B8NS 2
1502 = 4000 » 45 240
OZLAZ 02 U 220
5,000& = 1,5000H 7,500
02 =234l 6,500 6,500 0
OQ2AYYTRR ZHIIY 100,008 * 253 2,500
ONE T2 HYEEH
20,0003 » 200™H 4,000
SeNsEUYS 472,390 476,790 A4,400
201 L2yl 172,390 176,790 A4,400
01 AtE22/Hl 172,390 176,790 A4,400




SA: KX E
B NYHE o YS(AUDTHE/ABE)
Chel: ZoRe s a S EE)
SN EY O (BH) - MRAY - BLS Aol Bl =2
Gil &t 0
OS2& WX 2= 8,460
—XNgEH 3,000& * 1602 » 12& 5,760
—Z A2 2,500& » 0% * 123 2,700
OZ2 ALWKDM K0
1,500& * 1,000% 1,500
O32& U= 101,450
e IR P
250,00080 * 2% * 607} 2t 30,000
—AN=C RS
125,0002 * 5% * Q0JH t&E 56,250
—bhg SANHE 1,400,000& = 8Y 11,200
—MRERFUT 400,000& = 109 4,000
O=S2& /34 /W= 10,000,000& * 53] 50,000
OZ2f& u=s ZA= 2 ol 10,980
—JI2(SM2) 500,000& * 1AI2+ = 128] 6,000
—ZH(EAMS) 150,000 * 1AI2t * 123 1,800
—&5(30%) 650,000& * 30% * 122l 2,340
— Ol 70,0003 » 1 * 123] 840
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OZ2 Hery w2t 20,0002 * 20052 4,000
OMZS ABHZE I8 OF3HEI0l &0t
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03 HA2ZHI 24,000 24,465 A 465
Os2RMsU3 24,000
— 8 222 23 ZEFEHAS
3,000,000 » 14 3,000
— =4l 5,000& = 1,000H 5,000
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